RO106A

EXPLODED DRAWING—Model No. GZFW2071.2




Bubble #

OEM Number
GZ4350
GZ4349
GZ4348
GZ9402
GZ5108-09
GZ5108-10
GZ1032-01

9 GZ1086-02

10
11
12
13
15
16

#

GZ1014-03
171559
GZ1014-01
GZ1014-03
GZ1007
GZ1014-02
GZ7354

Description
UPRIGHT
RIGHT ARM
LEFT ARM
FOOT REST
ARM PAD
BACKREST
SMALL RUBBER HANDGRIP
LARGE HANDGRIP
3/8" X 4" BOLT
3/8" X 1.25" FLTHD BOLT
3/8" X 1" NON-PATCH BOLT
3/8" X 4" NON-PATCH BOLT
3/8" NYLON LOCKNUT
3/8" X 3" BOLT
USER'S MANUAL


https://www.gympart.com/itemdesc.aspx?ic=FMS10046&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10044&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10206&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10063&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS181&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10020&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

